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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6789133479
Option 11D : 67891313916
Option 2 ID : 67891313915
Option 31D : 67891313913
Option 4 1D : 67891313914
Status : Answered
Chosen Option : 4
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Question ID : 6789133412
Option 11D : 67891313648
Option 2 ID : 67891313647
Option 31D : 67891313645
Option 4 ID : 67891313646
Status : Answered
Chosen Option: 3
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Question ID : 6789133413
Option 11D : 67891313651
Option 21D : 67891313650
Option 31D : 67891313652
Option 41D : 67891313649
Status : Answered
Chosen Option : 3
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Question ID : 6789133423
Option 11D : 67891313691
Option 21D : 67891313692
Option 31D : 67891313690
Option 41D : 67891313689
Status : Answered
Chosen Option : 4
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Question ID : 6789133429
Option 11D : 67891313715
Option 21D : 67891313713
Option 31D : 67891313714




Option 4 ID : 67891313716
Status : Answered
Chosen Option : 3
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Question ID : 6789133419
Option 11D : 67891313674
Option 2 ID : 67891313676
Option 31D : 67891313673
Option 4 ID : 67891313675
Status : Answered
Chosen Option: 1
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Question ID : 6789133407
Option 11D : 67891313626
Option 2 ID : 67891313627
Option 31D : 67891313625
Option 4 ID : 67891313628
Status : Answered
Chosen Option : 1
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Question ID : 6789133404
Option 11D : 67891313616
Option 21D : 67891313613
Option 31D : 67891313615
Option 41D : 67891313614
Status : Answered
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Question ID : 6789133433
Option 11D : 67891313730
Option 2 ID : 67891313731
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Option 31D : 67891313732
Option 4 ID : 67891313729
Status : Answered
Chosen Option : 2
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Question ID : 6789133449
Option 11D : 67891313796
Option 2 ID : 67891313794
Option 31D : 67891313795
Option 4 ID : 67891313793
Status : Answered
Chosen Option : 1
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Question ID : 6789133477
Option 11D : 67891313907
Option 2 ID : 67891313905
Option 3 ID : 67891313906
Option 4 ID : 67891313908
Status : Answered
Chosen Option : 2
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Question ID : 6789133491
Option 11D : 67891313962
Option 2 1D : 67891313963
Option 31D : 67891313961
Option 4 ID : 67891313964
Status : Answered
Chosen Option : 4
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Question ID : 6789133427
Option 11D : 67891313707
Option 2 ID : 67891313705
Option 31D : 67891313708
Option 4 ID : 67891313706
Status : Answered
Chosen Option : 2
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Question ID : 6789133415
Option 11D : 67891313660
Option 2 ID : 67891313659
Option 31D : 67891313657
Option 4 1D : 67891313658
Status : Answered
Chosen Option: 2
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Question ID : 6789133475
Option 11D : 67891313897
Option 2 ID : 67891313898
Option 3 ID : 67891313900
Option 4 ID : 67891313899
Status : Answered
Chosen Option: 1
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Question ID : 6789133436
Option 11D : 67891313743
Option 2 ID : 67891313741
Option 3 ID : 67891313744
Option 4 ID : 67891313742
Status : Answered
Chosen Option: 3
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Question ID : 6789133476
Option 11D : 67891313902
Option 2 ID : 67891313901




Chosen Option :

Option 31D : 67891313904
Option 4 ID : 67891313903
Status : Answered
Chosen Option : 1
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Question ID : 6789133492
Option 11D : 67891313968
Option 2 ID : 67891313965
Option 31D : 67891313966
Option 4 ID : 67891313967
Status : Not Answered
Chosen Option : --
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Question ID : 6789133405
Option 11D : 67891313619
Option 21D : 67891313617
Option 31D : 67891313618
Option 4 1D : 67891313620
Status : Answered
Chosen Option: 3
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Question ID : 6789133430
Option 11D : 67891313717
Option 21D : 67891313720
Option 31D : 67891313719
Option 41D : 67891313718
Status : Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
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Chosen Option :
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Question ID :
Option 11D :
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Chosen Option :
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Answered

2

Q.2




4 m zEE # T aFg # H-FR § 4h FT S W IR IS 4| awg S Rufee w A wi

Ans of 1. 4 mgh
< 2.8 mgh
< 3 0.4 mgh
X 4 1/4mgh
Question ID : 6789133460
Option 11D : 67891313840
Option 21D : 67891313839
Option 31D : 67891313837
Option 4 ID : 67891313838
Status : Answered
Chosen Option : 1
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Question ID : 6789133440
Option 11D : 67891313758
Option 21D : 67891313759
Option 31D : 67891313757
Option 41D : 67891313760
Status : Answered
Chosen Option : 3
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Question ID : 6789133418
Option 11D : 67891313669
Option 2 ID : 67891313672
Option 31D : 67891313670
Option 41D : 67891313671
Status : Answered
Chosen Option : 1
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored

for all candidates.

Question ID : 6789133470
Option 11D : 67891313877
Option 2 ID : 67891313880
Option 31D : 67891313878
Option 41D : 67891313879
Status : Answered
Chosen Option : 3
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Question ID : 6789133447
Option 11D : 67891313788
Option 21D : 67891313787
Option 31D : 67891313786
Option 4 ID : 67891313785
Status : Answered
Chosen Option : 2
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Question ID : 6789133465
Option 11D : 67891313858
Option 2 ID : 67891313859
Option 31D : 67891313857
Option 4 ID : 67891313860
Status : Answered
Chosen Option : 2
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Question ID : 6789133486
Option 11D : 67891313941
Option 2 ID : 67891313943
Option 31D : 67891313942
Option 4 ID : 67891313944
Status : Answered
Chosen Option : 1
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Question ID : 6789133461
Option 11D : 67891313841
Option 2 ID : 67891313844
Option 31D : 67891313843
Option 4 ID : 67891313842
Status : Answered
Chosen Option: 2
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Question ID : 6789133444
Option 11D : 67891313773
Option 2 ID : 67891313774
Option 31D : 67891313776
Option 41D : 67891313775
Status : Answered




Chosen Option : 3
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Question ID : 6789133411
Option 11D : 67891313643
Option 2 ID : 67891313644
Option 31D : 67891313642
Option 4 ID : 67891313641
Status : Answered
Chosen Option : 2
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Question ID : 6789133416
Option 11D : 67891313664
Option 2 ID : 67891313662
Option 31D : 67891313661
Option 4 ID : 67891313663
Status : Answered
Chosen Option: 2
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Question ID : 6789133490
Option 11D : 67891313959
Option 2 ID : 67891313957
Option 3 ID : 67891313958
Option 4 ID : 67891313960
Status : Answered
Chosen Option : 2
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Question ID : 6789133466
Option 11D : 67891313863
Option 2 ID : 67891313862
Option 3 ID : 67891313864
Option 4 ID : 67891313861
Status : Answered
Chosen Option: 3
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Question ID : 6789133425
Option 11D : 67891313697
Option 2 ID : 67891313698
Option 3 ID : 67891313700
Option 4 ID : 67891313699
Status : Not Answered
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Question ID : 6789133431
Option 11D : 67891313724
Option 2 ID : 67891313721
Option 31D : 67891313723
Option 4 ID : 67891313722
Status : Answered
Chosen Option : 2
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Question ID : 6789133488
Option 11D : 67891313951
Option 2 ID : 67891313952
Option 31D : 67891313950
Option 4 ID : 67891313949
Status : Not Answered
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Question ID : 6789133474
Option 11D : 67891313894
Option 2 ID : 67891313896
Option 31D : 67891313893
Option 4 ID : 67891313895
Status : Answered
Chosen Option : 2
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Question ID : 6789133403
Option 11D : 67891313612
Option 21D : 67891313610
Option 31D : 67891313609
Option 41D : 67891313611
Status : Answered
Chosen Option : 1
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Question ID : 6789133494
Option 11D : 67891313974
Option 2 ID : 67891313975
Option 31D : 67891313973
Option 4 1D : 67891313976
Status : Answered
Chosen Option : 4
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Question ID :
Option 11D :
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Chosen Option :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
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Question ID : 6789133426
Option 11D : 67891313704
Option 2 ID : 67891313702
Option 31D : 67891313703
Option 4 ID : 67891313701
Status : Answered
Chosen Option: 3
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Question ID : 6789133454
Option 11D : 67891313815
Option 21D : 67891313813
Option 31D : 67891313814
Option 41D : 67891313816
Status : Answered
Chosen Option : 4
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Question ID : 6789133498
Option 11D : 67891313990
Option 2 ID : 67891313991
Option 31D : 67891313989
Option 4 ID : 67891313992
Status : Answered
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Question ID : 6789133442
Option 11D : 67891313767
Option 2 1D : 67891313766
Option 31D : 67891313765
Option 4 1D : 67891313768

Status : Answered
Chosen Option : 4
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Question ID : 6789133463
Option 11D : 67891313849
Option 2 ID : 67891313851
Option 31D : 67891313850
Option 4 ID : 67891313852

Status : Answered
Chosen Option : 3
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Option 11D : 67891313797
Option 2 ID : 67891313799
Option 31D : 67891313800
Option 4 ID : 67891313798
Status : Answered
Chosen Option : 2
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Question ID : 6789133481
Option 11D : 67891313924
Option 2 ID : 67891313922
Option 31D : 67891313923
Option 4 ID : 67891313921
Status : Not Answered
Chosen Option : --
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Question ID : 6789133452
Option 11D : 67891313807
Option 2 ID : 67891313806
Option 31D : 67891313808




Option 4 ID : 67891313805
Status : Answered

Chosen Option : 4
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Question ID : 6789133445
Option 11D : 67891313777
Option 21D : 67891313778
Option 31D : 67891313779
Option 41D : 67891313780
Status : Answered
Chosen Option : 4
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Question ID : 6789133483
Option 11D : 67891313931
Option 2 ID : 67891313929
Option 31D : 67891313930
Option 4 ID : 67891313932
Status : Answered
Chosen Option: 1
Q.5 . : .
s HEATIAT T H HiT AT F8T HAT AMgT?
2, 4,6, 12, 14, 28, 30,
Ans 1. 62
X2 64
v': 60
X4 32
Question ID : 6789133439
Option 11D : 67891313755




Chosen Option :

Option 2 ID : 67891313754
Option 31D : 67891313756
Option 4 ID : 67891313753
Status : Answered
Chosen Option : 3
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Question ID : 6789133402
Option 11D : 67891313606
Option 2 ID : 67891313608
Option 31D : 67891313605
Option 4 ID : 67891313607
Status : Answered
Chosen Option : 4
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Question ID : 6789133459
Option 11D : 67891313835
Option 2 ID : 67891313836
Option 31D : 67891313834
Option 4 ID : 67891313833
Status : Answered

1

1 TEe
EECH
e T T 927 § AT T F @ ol ) 39§ Sl mew oer i
EE N
| Tarer F= ¥ TR 8
Il et #Hi=ar & BT &

Ans X 1. aer | T a7 T 3
v 2 3% || T 22T TaTeT B
X 3 3tRer | TT 3o || T 22T 9O g

Q.6 e ve W 3 & U RBE T F| W= F 3coW o & O FiT ¥ FUS HERIF § @ 99T &,




X 4| 3T Il 2 7 2eT T T gIeT gl

Question ID :
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Q.8 Read the given question and decide which of the following statements is/are sufficient to answer the question.
0
Question:
M, O, P and Q are standing in a queue. Who is standing at the farther end of the queue
Statements:
1. M is at the counter interacting with the staff.
2. O and P are standing in between M and Q.
Ans 1. Statements | and 2 together are insufficient.
#< 2. Statement 2 alone is sufficient.
« 3. Statements 1 and 2 together are sufficient.
/< 4 Statement 1 alone is sufficient.
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Q.8 Read the statement and identify which of the conclusions logically follows from the given information.
6 Statement:
This meeting has been organised well.
Conclusions:
1. The organisers are corporate people.
2. The organisers have been very systematic in organising the meeting.
Ans o F 1. Only conclusion 2 follows
/< 2. Neither conclusions 1 nor 2 follows
/< 3. Only conclusion 1 follows
/< 4. Both conclusions 1 and 2 follows
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